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Roll Up Logic 

 

The following is a summary of logic related to a roll up1. A roll up relates to how the primary items within 

a set of [Line Items] is organized. 

Examples 

XBRL Cloud: https://xbrlsite.azurewebsites.net/2019/Prototype/conformance-suite/Production/1000-

ConceptArangementPatterns/02-RollUp/evidence-package/  

Luca Suite: 

https://luca.pacioli.ai/luca/view/9175b4014583e9fb8113bc253bf24aa764caa86880eec558111ca1cb0f8

b1f67f56ce05d/index  

Test case: http://xbrlsite.com/seattlemethod/platinum-testcases/22-TestCase-rollup.xml  

Pesseract: 

 

 
1 Roll up, http://www.xbrlsite.com/seattlemethod/platinum-testcases/rollup/  

https://xbrlsite.azurewebsites.net/2019/Prototype/conformance-suite/Production/1000-ConceptArangementPatterns/02-RollUp/evidence-package/
https://xbrlsite.azurewebsites.net/2019/Prototype/conformance-suite/Production/1000-ConceptArangementPatterns/02-RollUp/evidence-package/
https://luca.pacioli.ai/luca/view/9175b4014583e9fb8113bc253bf24aa764caa86880eec558111ca1cb0f8b1f67f56ce05d/index
https://luca.pacioli.ai/luca/view/9175b4014583e9fb8113bc253bf24aa764caa86880eec558111ca1cb0f8b1f67f56ce05d/index
http://xbrlsite.com/seattlemethod/platinum-testcases/22-TestCase-rollup.xml
http://www.xbrlsite.com/seattlemethod/platinum-testcases/rollup/
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The following is an example of a modeling of a roll up logical pattern using XBRL: 

 

 

Brief Description 

A roll up concept arrangement logical pattern represents a total, or roll up, and some set of other 

Concepts that aggregate to that total. This concept arrangement pattern is commonly referred to a “roll 

up”, or the equation A + B + n = Total where “n” can be any number of numeric Concepts.  All concepts 

involved in this concept arrangement pattern have the same set of aspects and all must be numeric and 

of the same period type and data type. 

 

 

Axioms 

1. A roll up is a type of information block object. 

2. A roll up is an aggregation of a set of concepts to some total concept. 

3. The pseudo mathematical formula is: A + B + n = Total where “n” can be any number of 

Concepts.  Total is always required, at least one Concept which aggregates into that total is also 

required, but generally there will be two or more Concepts aggregating into the Total. 

4. The calendar period type of each concept MUST be the same. 

5. The data type of each concept MUST be the same.  [CSH: I am pretty sure this is correct; but 

sometimes a modeling error where the wrong data type is used could cause issues.] 

6. The units of each fact in a roll up must be the same. 

7. A roll up NEVER has two total concepts or no total concept. 

8. A roll up is modeled using XBRL: 
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a. Presentation relations show an [Abstract] element which has the Concepts being 

aggregated and the Concept representing the total as children.  The total Concept is 

always the LAST CHILD of the [Abstract]. 

b. Calculation relations always exist, by definition, which describe the mathematical 

relations of the total Concept and the Concepts which make up that total. 

c. Definition relations exist only when a hypercube is explicitly provided and are 

represented using the rules of XBRL Dimensions. 

9. A roll up MAY have ZERO to MANY roll ups nested forming a grand total and subtotals. (See 

Nested Rollup2) 

10. If there is no total concept for a roll up but there are concepts that do aggregate to that total; 

the information is a partial set of information and should not be rendered as part of a roll up 

block of information. 

11. If there is a total concept but there are no detail concepts; the information is a partial set of 

information and should not be rendered as part of a roll up block of information. 

 

 

 

Nested Rollup: 

 

 

  

 
2 Nested Rollup, 
https://luca.pacioli.ai/luca/view/9175b4014583e9fb8113bc253bf24aa764caa86880eec558111ca1cb0f8b1f673a11
cf56/index  

https://luca.pacioli.ai/luca/view/9175b4014583e9fb8113bc253bf24aa764caa86880eec558111ca1cb0f8b1f673a11cf56/index
https://luca.pacioli.ai/luca/view/9175b4014583e9fb8113bc253bf24aa764caa86880eec558111ca1cb0f8b1f673a11cf56/index
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Partial information (NOT PART OF ROLL UP): (note that in the example below, the column related to 

2022-12-31 should not have been rendered as part of the roll up block of information because it is not a 

roll up, it is information that is used in other disclosures that does not relate to the block of information 

shown below) 
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Heavily nested roll up: (this is a heavily nested roll up; but it is just one block of information, just one roll 

up) 

 

 


